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Much of North Platte NWR closed Oct. 15 – Jan. 14 or as posted.
Limited hunting allowed on Lake Alice Unit only; call 308-783-2477

No Trapping 
Allowed on
 Property.

Ducks Unlimited Revolving Property - Weber 
is a PERMITTED ACCESS only site. Contact 
neaccess@ducks.org for a permit application.
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Map Sheet 3 Visit OutdoorNebraska.org/PublicAccessAtlas/ for the most up-to-date online Public Access Atlas

[¡ OFW Fishing Site
[¡ Public Fishing Sites

OFW CRP Open to Hunting and Trapping
OFW Open to Fishing Only
OFW Open to Hunting and Trapping
OFW Open to Hunting, Trapping and Fishing

OFW Special Regulations
Conservation Partner Lands
USFWS National Wildlife Refuge
NGPC State Recreation Area
NGPC Wildlife Management Area
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